SRI VIDYA ARADHANA ACADEMY, LATUR Quadratic Equation

A Premier Institute for Pre-Medical & Pre Engineering

@Yfﬁ " ARADHANA Emmg

PHYSICS JCHEMISTRY} MATHEMATICS|

BIOL OGY

vaa | ACADEMY NEET/JEE

“Transforming Your DREAMS Into Reality...!”

( Topic: Quadratic Equation )

Sub: Mathematics DPP: 01 Prof. Chetan Sir

1. Find the roots of following equations :
(a) 22 +32x+2=0 (b) 2> =8z +16=0 (c)a? —2x—-1=0

2. Find the roots of the equation a(z? + 1) — (a? + 1)z = 0, where a # 0.
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3. Solve : —— =2+
T

:E—|—3_1—a:_17

4. Solve f : =
Solve for x pop— . 1

5. If the roots of 422 + 5k = (5k + 1)z differ by unity, then find the values of k.

6. For what values of a is the sum of the roots of the equation 2% + (2 — a — a?)z — a® = 0 equal to zero ?

7. For what values of a is the ratio of the roots of the equation ax? — (a + 3)z + 3 = 0 equal to 1.5?

8. The roots 1 and x5 of the equation z? + px + 12 = 0 are such that 9 — 21 = 1. Find p.

9. Find k in the equation 522 — kz + 1 = 0 such that the difference between the roots of the equation is unity.
10. Find p in the equation x? — 4z 4+ p = 0 if it is know that the sum of the squares of its roots is equal to 16.

11. For what values of a is the difference between the roots of the equation 222 — (a + 1)z + (a — 1) = 0 equal to their
product ?

12. Express o3 + 23 in terms of the coefficients of the equation 2% + pz + ¢ = 0, where 1 and x5 are the roots of the
equation.

13. Assume that 1 and x5 are roots of the equation 322 — az + 2a — 1 = 0. Calculate 23 + 3.
14. Without solving the equation 3z? — 5z — 2 = 0, find the sum of the cubes of its roots.
15. Solve the equation (22 + )% — 8(22 + x) + 12 = 0.

16. Solve the equation 4% — 3 - 273 4128 = 0.
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17. Solve for x: _r -5 T +6=0.
r+1 r+1

18. Solve for x: z — 5z +4 = 0.

11th JEE - 2025 1 7798 860 860, 7798 870 870



SRI VIDYA ARADHANA ACADEMY, LATUR

Quadratic Equation

23.

24.

25.

26.

If o and f3 are the roots of the equation z? — 21/3x 4+ 2 = 0, find the value of o* + 5.
If o and B are the roots of the equation 222 — 32 — 1 = 0, find the value of o + /6.
Find the value(s) of k for which one root of the equation 822 — 30z + k = 0 is the square of the other.

Find the value(s) of m for which one root of the equation 2% + (5 — m)z + 2 = 0 is half of the other.

Answer Key (DPP -

21. If a and B are the roots of 22 — 5z + 3 = 0, find the value of o8 + a32.

1)

19. If one root of the equation 522 + 13z 4+ k = 0 is the reciprocal of the other, find the value of k.

20. If the sum of the roots of the equation kxz? 4 2x + 3k = 0 is equal to their product, find the value of k.

22. If a and B are the roots of the equation 22 — 52 + 2 = 0, find the value of the following expressions:
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17
21
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(a)-1,-2; (b) 4; () 1£vV2 2 a1

3,*% 6 a1 =-2,a0=1

k=43V5 10 p=0

a(a2—2178a+9) 14 %

x=-2,-3/2 18 z=1,16

15 22 (a) 21; (b) 95; (c) 5/2; (d) 21/2
k=27or k=-125 26 m=2orm=2_8

3 7 4 z=4,-2/9
7 a1 =2,a2 =9/2 8 p=47

11 a=2 12 3pqg —p?
15 ze€{-3,-2,1,2} 16 z=234
19 k=5 20 k=-2/3
23 56 24 2L

27 28
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